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(a) fine loop and nodal points in an electrical network.
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Mhat is ﬁe importance of a bleeder resistor in a rectifier circuit using LC
fitter?
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How non-linear distortion and noise is reduced by negative feedback”
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This question paper contains 3 pnn*t®

nal network? Define h-parameters and obtain the
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pations for input and output impedances.
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aximum power transfer theorem and’derive the expression for the
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maximum power transferred to the load by a generator. (3]
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e the donor concentration in N-germanium if its resistivity is
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0.015 %‘m and [ = 6,36 m%/V-s. For the same resistivity of P-germanium,

estimate the concentration of acceptors impurity ps = 0.17 m?/V-s. 31
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(ay/ With the help of a suitable diagram explain the working of a bridge rectifier
having a shunt capacitor filter. :
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(b) / Draw waveforms for the voltages at the input and output of filter with input
alternating mains voltage. Derive the formula of Ripple factor for this filter.
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In common-emitter configuration, a transistor has the following parameters

0 hie=24kQ, he = 1.5 % 10™*, hge = 55, hoe = 50 X 10°® p siemens, Rs = 1 k€2,
T RL — 2 k. Determine the current gain, voltage gain, input impedance and

~ output impedance.
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hat are cascadedamplifier? Give circuit diagram of direct coupled

amplifier, )
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rﬁfﬁﬁﬂ with Voltage gain 500 produces 11% distortion. What should
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Mve that for sustairjed oscillations in a RC-phase shift oscillator, hg 2 56,

L)
where the symbol hagits usual meaning. 31
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(b) “In an oscillator, there is output without input signal™ 1s it agsinst energy

3

conservation?
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%e the following-Boolean identities -

() AC_,_ABé%AOi-BC
(ii) AB+AC§A+C)(R+B}
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(1)
AB+AC=(A+C) (A+B)

(i)




